Il EHEME No7 2019411 H27H

BRE27 C°fEH/B f: 5% = ST L Tpe SPAEHMETH D, f(p) 7721
MPoRBLd b ZOLE f*: HX(S?) — HY(S?) XAMESTH S Z L &2RY.
(B b ETHIAL 72, degf D2 DDERDFMEMDIEH%Z £405.)
ME28 S?={(z,y,2) eR*: 2 +y*+22=1} 2FE R 5.
(1) 2EOWHERNwiE H2(S?) DEFGTHI I L 2nE. (kY b AM—7
A DEH)
w=xdy Ndz — ydx N dz + zdx N dy

(2) B f: 82 - S* % f(n,y,2) = (—x,—y,—2) CEDD. [fOEBRE deg [ 2%
KETH U728 DJEETRD K.

BIRE 29 HFERED 2 (RIEJiATH

A= , n,m,l,k €Z
[k

WA UTEB fu: Stx St — St x St %

falz1,20) = (725", 21 25)
TEDD. 72720 St 2l 1 OERBRK{z e C: |2] =1} LA—HLTW5.
fhs H (S'x SY) — H*(S' x 1) 2{75ErE L. (kv b HY(SY) DEEEZ 525
AR % L b, Kiinneth OEHE M > T H*(S' x SY) OREEE-THLD. )

78 30 [Bott-Tu, Exercise 6.46] RIEE28 2B D544 f: 5% — 52, f(x,y,2) =
(—x,—y,—2)2FA5. BB fIEfof=id%ZiM=U, S2IZZ/2Z DIEH%ZED 5.
RP? 1ZZDZ2ZEIZBET % 2D TH o7z, DX D

Rﬂﬂ = 82/(x,y,2’) ~ f(xaya Z)

Thb.
(1) OP(RP?) = {a € QP(S?) : f*a = a} ZRE.
(2) HP(RP?) = {a € HP(S?) : ffa=a} 258, (B2 b BEERIC X 5789).
(3) HP(RP?) %3k k.

BIRE31 (TED O°MEM f: S — 5?2 x S? DEMHREIZ0TH D I L E2RE. (k
Yh o akERY-OREEEHNS. )

B 32 (EEDIEA (proper) 78 C* G f: R? 5> Rx ST DEHREFZ0THS Z
LERE. (v b BEEEERMED. )



